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Choose the correct answer :
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“Logic is the art of reasoning.” This
statement was made by Aldrich/
Thomson.

B) " el e amads T
G /RS |
The relationship between denotatim.a and
connotation of a term is of direct/
inverse variation.
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Quality of converted and converse is
similar/different.
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In a valid syllogism, a conclusion cannot
be derived from two particular /universal
premises.
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Certainity and universality are formal
nature/basis of induction.
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L. S. Stebbing classified hypothesis into
two/three kinds.
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Write short notes on (any three) :

(@)

(b)
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The Nature of Logic
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Immediate Inference
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(c) TS FM
Figure of Syllogism

(d) TR AP

Explanatory Hypothesis
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What is logic? Discuss the scope and utility
of logic. -
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What is proposition? Discuss the structure
and components of a proposition.
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What is an inference? Classify inference and
give definition of each kind with examples.
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What are different kinds of immediate
inference? Explain the rules of conversion.
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What is syllogism? Explain the structure and
characteristics of categorical syllogism.
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What is syllogism? Explain the rules of
categorical syllogism.
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What are the grounds of induction? Discuss
the formal grounds of induction.
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What is hypothesis? What are the conditions
of valid hypothesis? Discuss.
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